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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any 5 questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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(a) What is economics? Explain the three principles

of economics.

(b) Explain the principle of optimization at the

margin. (10,5)
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What do you mean by tax incidence? How the
elasticity of demand and supply determines the
incidence of taxes on consumer and producer explain

with diagram? (5,10)

HUE ¥ I g F? W ok o A A B wEw
Il SR IERE W HE A iR w1 2, ke

UG EEIE

Explain positive and negative externality with example?
How Pigouvian solution work to correct both positive
and negative externality? Explain by using appropriate

diagram. . (5,10)
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(b) Derive the Long run supply curve for an individual (‘c{) o W FHET & frad & sren SR
firm diagrammatically. (10,5)

2. (a) Show using diagram, how a country, and its sellers
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and buyers benefit/lose after opening up for free

trade when
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(ii) it becomes a net importer.

6. (a) Explain how invisible hand efficiently allocates (b) What are strategic games? Explain with an

production within an industry among different : - example. (10,5)

plants.
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(b) Explain how deadweight loss arises in case of

price controls. (9,6)
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3. Show graphically the effect of the following on

equilibrium quantity and price.

(i) Technological advancement leading to lower

marginal cost,.

(ii) Increase in the price of a complementary

good.

(iii) Increase in buyer’s income (assuming that it is

an inferior good). (5,5.5)
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4. (a) What is a buyer’s budget set? How does it change

if ‘price of one commodity increases ceteris

paribus? Explain with di'ag'r.am.

(b) What is meant by consumer surplus? How is it

calculated? Explain with diagram. (8,7)
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5. (a) Derive the supply curve of a firm in a perfectly

competitive market. Also explain the shut-down

condition.
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